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1. Figures to the right indicate full marks. | B Y~ S
2. Each section should be written in a separate answer books. *  ° .
3. Be precise and to the point in your answer. -

Section I

Describe following terms in brief
1. Compiler 2. Translator 3. Error Handler 4. Augmented Grammar
Explain in detail the process of compilation. [llustrate the output ofieach phase
of compilation for the input “x = (y+z }* (y+z)* 1.4
OR

Why it is required to check whether the grammar i8 ambiguous,or not? Check whether the 6

following grammar is ambiguous or not? If ambiguous then remove ambiguity.’
R—-R+R|RR|R*|ajb
Do as directed:
1. Identify left recursion and remove it from following grammar:
Po>QP|r
Q—->PQJs
Perform left factoring on following grammar:
A —> abcde | abedz | abee Jabeae
S — dfgh | dfghj | dfgjdf| dS
3. Remove Null pro@uctionfrtom following grammar:
Z->TUVX| VWU
T-—>aTle
U-—->b|bU
V-cVie
W — TV
X—>eXie

o

Construct M-tablé& check whether following grammar is LL (1) or not?
S — AcB
A — aAba
B—bBib
Compute First () and Follow () set for following grammar. Test whether following
grarmmapisd 1 (1) or not?
SohABR e
A s R 0C
B 08
O
OR
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string “((ab*x%xz))”.

Compute First () and Follow () set & Select() for following grammar: o
S - AACB|CbB |Ba

A —da|BC

B—gle

C-ofle

Construct predictive parsing table for following grammar and show the parsing steps for

I—>x|(lJ)]ab
J=>*¥IK|Ky]|e€
K—e|%lz|b

What is left recursion & left factoring? How they are eliminated? Alsorite andfexplain 6
rules for finding FIRST() & FOLLOW() set. .
Explain operator precedence parser with example. 6
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Section I

“If a grammar is SLR(1) then that grammar is CLR(1)” true or false? Justify your answer
with example.
“If a grammar is LR(0) then that grammar is LALR(1)” true or false? Justify your answer
with example,

OR
Show that the following grammar is not L (0) but CLR(1).
W — RiRj | TjTi ‘ a
Roe
T—e

Discuss types of three address statements (Switch statement, for & while loop) and their
implementation with examples.

Do as directed:
I.~ Apply loop jamming on the following code fragment'and explain it.
int i, j, a[200], b[200];
for (i = 0; i <200; i++) {
afi} = 134;}
for G =0;j <200; j++) {
blj] =565}
2. Apply loop-invariant code motion on the followifig code fragment and explain it.
while (j < maximum - 1)
{J =]+ (4+array[k])*pi+s5; }
Explain S-R conflict and R-R conflict of CLR(1) &L ALR(1) with example.
OR

Describe the different data stflictufes for symbol table implementation and compare them.
Discuss the types of errorsavhichcan be encountered by all the phases of compiler.

Construct LALR(1) parsing table for the following grammar and parse the string “*id=*id”.

5§ L=R|R

L—*R|id

R—L

Construct CLR(1)parsing table for the following grammar:
S—8B|Ca

B—>Bble

C—aBlc

END OF PAPER
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